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// mini eksempel på operatoroverload

#define

BOOL
int

#define

FALSE
0

#define

TRUE
1

class CxTest

{

public:




CxTest

(void);


// default constructor




CxTest

(const CxTest& Obj); 
// copy constructor


CxTest&
operator=

(const CxTest& Obj); 
// assigment operator


BOOL

operator==

(const CxTest& Obj); 
// test equal operator


CxTest& 
operator ++ 
(void);


// ++ prefix


CxTest
operator ++ 
(int);


// postfix ++

private:


int

Tal1;


int

Tal2;

};

CxTest::CxTest

(void)

:
Tal1(0), Tal2(0)

{}

CxTest::CxTest

(const CxTest& Obj)

:
Tal1(Obj.Tal1), Tal2(Obj.Tal2)

{}

CxTest

CxTest::operator=
(const CxTest& Obj)

{


Tal1 = Obj.Tal1;


Tal2 = Obj.Tal2;


return (*this);

}

BOOL

CxTest::operator==
(const CxTest& Obj)

{


if
( (Tal1 == Obj.Tal1) && (Tal2 == Obj.Tal2) )



return (TRUE);


else



return (TRUE);

}

CxTest&

CxTest::operator++
(void)

// prefix notation

{


Tal1 = Tal1 + 1;


return (*this);

}

CxTest&

CxTest::operator++
(int)

// postfix notation

{


CxTest
Temp(*this);


operator++();


return (Temp);

}

int main (void)

{


CxTest
T1;


CxTest
T2(T1);


CxTest
T3(T2);


T1 = T2 = T3;


// T1.operator=( T2.operator=( T3 ) );


if (T1 == T2)


// if ( T1.operator==( T2 ) )



T2 = T1;


// T2.operator=( T1 );


T1 = ++T2;



// T1.operator=( T2.operator++() );


T1 = T2++;



// T1.operator=( T2.operator++(0) );


T1.operator=( T2.operator=( T3 ) );


if ( T1.operator==( T2 ) )



T2.operator=( T1 );


T1.operator=( T2.operator++() );


T1.operator=( T2.operator++(0) );


return (0);

}
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